
qm=;+= ljj/0f PsLs[t ;DklQ s/

1 ?= ! b]lv @ nfv ;Dd 25.00      klRr; ?k}of dfq

2 ?= @ nfv ! b]lv # nfv ;Dd 50.00      krf; ?k}of dfq

3 ?= # nfv ! b]lv $ nfv  ;Dd 75.00      drxQ/ ?k}of dfq

4 ?= $ nfv ! b]lv % nfv ;Dd 100.00     Ps ;o ?k}of dfq

5 ?= % nfv ! b]lv ^ nfv ;Dd 125.00     Ps;o klRr; ?k}of dfq

6 ?= ^ nfv ! b]lv & nfv  ;Dd 150.00     Ps;o krf; ?k}of dfq

7 ?= & nfv ! b]lv * nfv ;Dd 175.00     Ps;o krxQ/ ?k}of dfq

8 ?= * nfv ! b]lv ( nfv ;Dd 190.00     Ps;o gAa] ?k}of dfq

9 ?= ( nfv ! b]lv !) nfv ;Dd 200.00     b'O{ ;o dfq

10 ?= !) nfv ! b]lv !@ nfv ;Dd 250.00     b'O{ ;o krf; ?k}odf dfq

11 ?= !@ nfv ! b]lv !$ nfv ;Dd 300.00     ltg ;o ?k}of  dfq

12 ?= !$ nfv ! b]lv !^ nfv ;Dd 350.00     tLg;o krf; ?k}of dfq

13 ?= !^ nfv ! b]lv !* nfv ;Dd 380.00     tLg;o c;L ?k}of dfq

14 ?= !* nfv ! b]lv @) nfv  ;Dd 400.00     rf/ ;o ?k}of dfq

15 ?= @) nfv ! b]lv @@ nfv  ;Dd 500.00     kfr ;o  ?k}of dfq

16 ?= @@ nfv ! b]lv @$ nfv ;Dd 550.00     kfr ;o krf; ?k}of dfq

17 ?= @$ nfv ! b]lv @^ nfv ;Dd 650.00     5 ;o krf; ?k}of dfq

18 ?= @^ nfv ! b]lv @* nfv ;Dd 800.00     cf7 ;o ?k}of dfq

19 ?= @* nfv ! b]lv #) nfv ;Dd 1,000.00    Psxhf/ ?k}of dfq

20 ?= #) nfv ! b]lv #$ nfv ;Dd 1,200.00    Psxhf/ b'O{ ;o ?k}of dfq

21 ?= #$ nfv ! b]lv #* nfv ;Dd 1,500.00    Psxhf/ kfr ;o ?k}of dfq

22 ?= #* nfv ! b]lv $@ nfv ;Dd 2,000.00    b'O{ xhf/ ?k}of dfq

23 ?= $@ nfv ! b]lv $^ nfv ;Dd 2,500.00    b'O{ xhf/ kfr ;o ?k}of dfq

24 ?= $^ nfv ! b]lv %) nfv ;Dd 3,000.00    tLgxhf/ ?k}of dfq

25 ?= %) nfv ! b]lv ^) nfv ;Dd 3,500.00    tLgxhf/ kfr ;o ?k}of dfq

26 ?= ^) nfv ! b]lv &) nfv ;Dd 4,500.00    rf/xhf/ kfr ;o ?k}of dfq

27 ?= &) nfv ! b]lv *) nfv ;Dd 6,000.00    5xhf/ ?k}of dfq

28 ?= *) nfv ! b]lv () nfv ;Dd 8,000.00    cf7xhf/ ?k}of dfq

29 ?= () nfv ! b]lv ! s/f]8 ;Dd 10,000.00   bzxhf/ ?k}of dfq

30 ?= ! s/f]8 ! b]lv ! s/f]8 @) nfv ;Dd 12,000.00   afx|xhf/ ?k}of dfq

31 ?= ! s/f]8 @) nfv ! b]lv ! s/f]8 ^) nfv ;Dd 16,000.00   ;f]x|xhf/ ?k}of dfq

32 ?= ! s/f]8 ^) nfv ! b]lv @ s/f]8 ;Dd 20,000.00   aL; xhf/ ?k}of dfq

33 ?= @ s/f]8 ! b]lv @ s/f]8 @) nfv ;Dd 25,000.00   kRrL; xhf/ ?k}of dfq

34 ?= @ s/f]8 @) nfv ! b]lv # s/f]8 #) nfv ;Dd 40,000.00   rfln; xhf/ ?k}of dfq

35 ?= # s/f]8 #) nfv ! b]lv $ s/f]8 ;Dd 50,000.00   krf; xhf/ ?k}of dfq

36 ?= $ s/f]8 ! b]lv % s/f]8 ;Dd 60,000.00   ;f¶Lxhf/ ?k}of dfq

37 ?= % s/f]8 ! b]lv dfly hlt eP klg @ ?k}of k|lt b/n] PsLs[t ;DklQ s/ nfUg]

cg";"rL–(

lgb]{lzsfsf] kl/R5]b $ sf] a'Fbf !$ -v_ ;Fu ;DalGwt

PsLs[t ;DklQs/sf] b/ lgwf{/0f gd"gf



qm=;+= ;+/rgfsf] k|sf/ k|lt ju{ lkm6 d"No

! l;d]G6sf] hf]8fO{df O6f jf 9'+ufsf] ufx|f] cf/=l;=l;= 3/ 800.00     

@ jfn gnufO{ k|m]d dfq agfPsf cf/=l;=l;= 3/ 700.00     

#

l;d]G6sf] hf]8fO{df O6f jf 9'+ufsf] ufx|f] ePsf] h:tf jf 6fonsf] 5fgf 

ePsf] 3/ 500.00     

$ df6f]sf] hf]8fO{df O6f jf 9'+ufsf] ufx|f], cf/=l;=l;= 5fgf 400.00     

% df6f]sf] hf]8fO{df O6f jf 9'+ufsf] ufx|f], l6g jf 6fonsf] 5fgf ePsf] 3/ 300.00     

sf7}sf7af6 ag]sf] h:tfsf] 5fgf ePsf] 3/ jf sf7sf] vDaf / O6fn] 3/]sf] 

h:tf jf

6fnLsf] 5fgf ePsf] 3/ jf af;sf] a]/f ePsf] l6g jf 6fnL jf v/af] 5fgf 

ePsf] 3/

jf ;]G6/a]/f eO{ h:tfsf] 5fgf ePsf] 3/sf] Psd'i6 d"nof+sg k|lt 3/ @ 

nfv

cg";"rL–^

lgb]{lzsfsf] kl/R5]b # sf] a'Fbf !! -u_ -cf_ ;Fu  ;DalGwt

lghu9 gu/kflnsf sfof{no, af/f

;+/rgfsf] d"Nof+sgb/ lgwf{/0f gd"gf

^ 200.00     


